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1 a=3i+20j-15k f(x,y,2) grad f
div(fa)

1
1 f(xy,2)=x+y2+2%)?
2 f(xy,2)=x*+y*+17°
3 f(x,y,2)=In(x* +y*+17%)

_3
1 grad f =—(x*+y?+2%) 2(xi + yj+zk)

dN(h):—uz+y2+22fg@x+20y—ﬂﬂ)
2  grad f =2(xi + yj + zk)
div(fa) = 2(3x+ 20y —152)
3 grad f =2(x* +y* +z2) " (Xi + yj + zk)
div(fa) = 2(x* + y* +2?) " (3x + 20y —152)
2 a=xi+y*j+z°k x> +y*+z2°=1

T:x*+y*+2°=1(x>0,y>0,2>0)
I_[xzdydz + y®dzdx + z*dxdy

z
T

J;jzzdxdy = Q(l— x* — y?)dxdy :%—IEdHI;rgdr =3
”xzdydz = ”yzdzdx =z
z z 8

J'J.xzdydz + y?dzdx + z%dxdy = gﬂ'
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3 r=xi+yj+zk r=r|
1 div[ f (r)r]=0 f(r)
2 div[grad f (r)]=0 f(r)
1

AW _ try4 1)
OX r
=10+ 10k,

m: f(r)+ f'(r)i
0z r

div[ f (r)r]=3F (r) +rf'(r)

1



div[f(r)r]=0 3f(r)+rf'(r)=0

f(r)=—
r
c
2 of (r) _ X " af(r) ff’(r) of (r) =5f’(r)
OX r 8x
ai( j= f (r)+ f"(r)
%(yf (r) j: Cf (r)+—f”(r)
i[ f'(r)) f (r)+ f”(r)
0
div[grad f (r)] =% f'(r)+ f"(r)
div[grad f(r)]=0 2f'(r)+rf"(r)=0
F(r)=2+c,
r
C,,C,
1
grad{c-r +§In(c-r)}
c r=xi+yj+zk c-r>0
c=(c,c,,Cc) U :c'r+%ln(c-r)
ou C, 6u c, 8u C,

—=C, + =C, + =C, +
OX 2(c-r)’ ay 2(c-r)’ o 2(c-r)

1 1l c
radsc-r+=In(c-r);=c+=——
J { +2( )} +Zc-r
a= grad[arctan %)
1 (x-2)>+(y-2)*=12=0 z

2 X>+y*=4,2=1 z

a= grad[arctan Xj =
X



i i k
rota= i 9 9 =0
OX oy 0z
- X
2 y2 2 2 O
X“+y° X +y

z
1 L={(x,y,2)| (x-2)*+(y-2)’=12=0}
={(%y,2)] (x-2)*+(y-2)’<1,2=0}
p) Stokes
J'a-ds:J'J'rota-dS:O

N

2 X=2c0s8,y=2sinf,2=0

Ia.ds:JM__ dé=-2rx
1 L XT+Yy 0
r=xyz(i+ j+k) M (1,3,2)
n=i+2j+2k
i j k
o o0 0 . .
rotr=|— — —|=X(z-Y)i X=2)j+z(y—x)k
x oy (z=y)i+y(x-2)j+z(y-x)
Xyz Xyz Xyz
rotr(M) =—1-3j +4k
r=xyz(i+ j+k) M (1,3,2) n
lim r-dr=rotr(M) -
L] s
a=a,i+a, j+ak f(x,y,2)
a,a,a, f

1 div(rot a)=0
2 rot(grad f)=0
3 grad(diva) - rot(rot a) =

oa oa
1 rota= ce, _ %3, i+(8ax_aazjj+ v 8, k
oy oz oz 0oX ox oy
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oa sa
div(rot a)= 2 % _ % +g(aax _aaz}i @, ),
i j ok
2 rotgad )=~ 2 Zl_o
OX ay oz
a A A
OX ay 0z
3
grad(diva) = adiva iy adiva i+ odiva "

OX oy 0z
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oxoz oyoz oz
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oyoz oz OX oxoy oXoz  OX oy 0yoz

grad(diva) —rot(rota) = Aa,i + Aa, j + Aa,k = Aa

q
E-_ = (Xi + yj + zK) r=yx>+y*+2*> g
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rot E

of(z oy 3yz 3yz
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a r=xi+yj+zk
1 Vv-.(@@axr)=0
2 Vx(axr)=2a
3 V- (r-na)=2r-a

o 9 9
OX oy oz
1 V-(axr)=la, a, a,
X y z
:a(ayZ—azy)+8(aZX—aXZ)+5(axy—ayX):
OX oy 0z
[ j k
2 Vx(axr)= 9 9 9
OX oy 0z

az-ay ax-az ay-ax

=2(a,i+a,j+a,k) =2a
2y o(a,y? 2
o@x?) (yy)+a(azz)=2r-a

3 V-((r-r)a)=

OX oy 0z
10. (x? = 2yz)dx + (y? — 2xz)dy + (2> — 2xy)dz
a=(x*-2y2)i+(y>-2xz)j+(z> -2xy)k
oa oa
A _ ox =Py B,y 8 B 5, %
oy oz 01 oX OX

a=(x"=2y2)i+(y*-2xz)j+(z° - 2xy)k

U(x,y,z)= L 000 (x> —2yz)dx + (y* — 2xz)dy + (z* — 2xy)dz + C

z 1
= J'O xzdx+J‘O y2dy + IO (z° —2xy)dz = §(X2 +y?+z7%)-2xyz+C

X—y .  X+y . (x> 0)

11. a:x2+y2|+x2+yzj
x>0
o X-y y2—-x>=2xy o0 x+y
5[x2+y2J (x* +y?%)° &[x +y? ]
a
V(X y) =-U(x,y) = .[(ioj)(x y)dx+(x+y)dy LC
X2 +y°

[ yﬂdy+C——arctanX——In(x +y?)+C
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12. a=02x+y+2)yzi+(x+2y+2)zxj + (x+ y + 2z)xyk



a=a,i+a, j+ak
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—L =727 +22(x+Yy) = %
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a U=U(xY,2)

dU = (2x+ y+2z)yzdx + (X + 2y + z)zxdy + (X + y + 2Z) xydz
=[yzdx® + x*(zdy + ydz)]+[y? (zdx + xdz) + zxdy?]

+[22 (ydx + xdy) + xydz?]

=d(x?yz) +d(xy?z) + d(xyz®) = d[xyz(x + y + 2)]

V(xVy,2)=-U(x,y,2)=—xyz(x+y+2)+C

13.
1 u=y®-3x% R?
2 u=Iny(x-a)’+(y-b)> R*\{(ab)}
3 ue——1  R\{0.0,0)}
X2+ y? 422
1
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ox yay y ox’ yay2 y
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ou X—a ou y—b

& (x—a)’+(y-b)’'dy (x—a)’+(y—b)’
o%u_ (y-b)’—(x-a)® ou_ (x-a)’—(y—h)’

ox* [(x—a)’+(y—b)’1* "oy* [(x—a)®+(y—Db)*T?

o’u  d°u
- 4 =
aXZ ayZ
u=Iny(x-a)>+(y-b)? R2\{(ab)}
3 r=4x?+y?+2°
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0z rér r* oz r rer r r

=——+3
aXZ 8y2 622 r3 r5
=1 R%\{(0,0,0)}
X2 +y*+2°
14. u(x,y) R? u
= on on
C R?
ou ou ou ou ou
— =——c0s(n, X) + —cos(7, y) = —cos ——CoS(T; X
anax()ay(y)a(ry)ay(r)
n T C (x,y)
ja—uds ja—udy—a—ud
con & ox oy
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2
”[ dedy 0
D
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M, (X, + #0
0 (X0, Yo) ox2 oy?
u(x,y) o0>0
D =0(M,,5)
2 2
a_u+a_u>0
ox2  oy?
”{a dedy>0
D
u
15. u=u(x,y) v=v(xy) F =+u?+v?
p=>2 F=0

A(F?)>0

oF P F p-1 Ul + Wy

= pF P (uu, +w
P = PF ™ (uu, +wvy)



az(Fp) p—4 2 p-2¢,,2 2
ol p(p—2)F P " (uu, +vv, )" + pF P " (ug +Vg +Uu,, +W,,)
X
GZ(FP) _ 2 Fp—4 2 Fp—2 2 2
&2 p(p-2) (uuy +wy ) +p (Uy +vy +uuy,, +w,, )
A(FP) =

p(p—2)F P *[(uu, +wW,)? + (uu, +w, )T+ pF P2 (Ul + Vi +u’ +v2) >0

16. B={(x,y,2)|x*+y*+z° <} F(x,y,z) R®—>R?®

F,=(000) V-F| =0
R’ 9(x,y.2)
J ”Vg -Fdxdydz =0
B

V-(gF)=Vg-F+gV-F  Gauss
[V -Fdxdydz = [[[V - (gF)ixdydz ~ [[[ gV - Fexdydz
B B 3

- ”gF .dS —H_[gv -Fdxdydz =0
oB B

Fl, =(000 V-F| =0

17. D={(x,y)eR?|x*+y* <1} u(x,y) D
u D D oD

at: au =AU A
oX ay

[[oradul* dxdy + A [[uZdxdy = 0
D D
green

aL—u%udx+u dy = ”[(—) + (= )+u(a_“+8yi) dxdy

ou
oD u(x,y) u—dx+u—dy 0
I

oD



62u+62u
ox* oy’

H[(—) )2 +/1u2}dxdy:0

=AU

[[lgradul? dxdy + 2 [[u?dxdy = 0
b D

18. Q ) ux,y,z) Q
J— 2 2
%) al21+au au
ox* oy® 01?
1
jja—“dszo
s on
n

2 (X01y01 )EQ
u(X,, Vo, 0)__”-( cos(r n) 16ujdS

r on
r=(X—X0,¥Y—-VY9.2-2,) r=r|

1 n = (cos a,cos 3,¢0S ) Gauss

” ds = ”(—cos +—cosﬂ+—zcos;/)ds

-m(a“ o Z)ddydz—O

ox® oy’
2 cos(r,n) = % Z—U =(gradu)-n
ﬂ( cos(r n, L de = — [[ Pdydz + Qdzdx + Raxdy
4r r? r on 4
P:(x—xo)u+r Uy Q:(y—yo)U+r2uy R:(z—zo)u+r2uz
r3 r3 r3
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ox rd re r
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j j j (ap xQ +—)dxdydz =0

cos(r n) 1ou cos(r n) 1ou
H( r@njds_%ﬂ[ ranjdS

r=4 cos(r,n) =1 H—ds 0

H( cos(r n) lau

ran
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